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Option Explicit

Const PI = 3.14159265
Const MaxDegree = 360

Const StartPointX =0

Const StartPointy =0

Const StartAngle =0

Const nPointCount =36

Const nCircleCount = 6

Const SpiralWidth =6

Const PathWidth ="0.1"

Const Layer "layer metal2"
Const ConnectPath =1

Function Spiral(centerX, centerY, CircleNumber)

Dim THETA

Dim deltaAngle, deltaRadius
Dim tempAngle, tempRadius

Dim strCommand
Dimi
THETA=PI1/180

deltaAngle =MaxDegree / nPointCount
deltaRadius = SpiralWidth / nPointCount

strCommand = "Path"
@

WVis

[
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For i =0 to nPointCount
tempAngle =deltaAngle *i+ StartAngle
tempRadius = (SpiralWidth*CircleNumber) + deltaRadius * i

strCommand = strCommand + " " + CStr(Round((centerX + tempRadius*Cos(tempAngle *
THETA)),3)) +"," + CStr(Round((centerY + tempRadius*Sin(tempAngle * THETA)),3))
Next
Spiral = strCommand

End Function

Sub Main
Dim LayEd
Dimi
Dim figurewidth

figurewidth = "mwidth" + " " + PathWidth
Set LayEd = CreateObject("LayEdPro.Application™)
LayEd.Execute(Layer)

For i =0 To nCircleCount-1
LayEd.Execute(Spiral(StartPointX, StartPointyY, i))
Next

LayEd.Execute("SelectAll")

If ConnectPath > 0 Then LayEd.Execute("ConnectPath")
LayEd.Execute(figurewidth)

LayEd.Execute(""ZoomFit")

End Sub
Call Main
¢ Const StartPointX =0
Const StartPointY =0
VBS Const StartAngle =0

Const nPointCount =36
Const nCircleCount =6
Const SpiralWidth =6
Const PathWidth
Const Layer
Const ConnectPath =1
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e StartPoint

StartPointX Const StartPointX =, Const StartPointY =
StartPointY ->

StartPointX=0, StartPointY=0 StartPointX=5, StartPointY=10
e StartAngle
Const StartAngle=
StartAngle ->0~360

StartAngle =0 SrartAngle = 180

NPointCout Const  PointCount=
>

PointCount=36 PointCount =9
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nCircleCoung Const
->

CircleCount=

CircleCount=6

CircleCount =2

Spiralwidth Const Spiralwidth=

->

Spiralwidth=6

e Path

ConnectPath Path

Const ConnectPath=

-1 Path path
-0 Path

)
PathWidth

Const ConnectPath=
->

[
Layer Path

Const Layer=
->

WVis

[

Spiralwidth=2



